— 10.08

11y

—— 12.69
15,20,24

20,249

21.7¢

18000 21030~279450
6003750 600 3750 600 3750600 375069% 980, 3500 , 8490 5040~1194Q1980, 20
1 11 11 11 3y 1 | 1
E£E350~80
gaarld A ) B
ECTTRN N 58 .
’_'Iitv6.30 _ y6.35 - 6‘| 4;'— 0%1%:% ‘ '.'..m.r.:.‘ Sainnn
RitlALT 460 [ Vwasol [ L * ’ T N &
— N
300H #BRES S | 3320 sy 0
; v1.35 | ‘
| | NE RN ‘
':‘ | ‘A +// N
Rtk —1.32 v—1.40 U VA 130 -
490011 4800 |1300 N || 4v4l45 L 335
W ]
620 1] | 1N " |
- o ke NS 34 | 2
=1 =1 i M o
9.0 S Shde = 10l1eke —9.00——
@) @) O','~.\\ o
34 44 BREN )
M 4| N 00
] " NN 0 1o
12605 = —- ‘ 1%.29— —13.10—
O o | RA NS
'®) ') N | .
2 2 R 1B6v
S | S | X
—0—17‘70 3—3 kth® ;:::?‘:: |
177 15.60H —19.46 EL; ra0930/36- —19.20—
_ _00.30 e Ot
_li2Q24 L L L o SEE - 40,2782 °
O.DQD L] L]
° 4 kb KKANF Yol 04,0935
21,28,$20.90—- —24.70 S %
N 26.50 —25.40
_o.:Q:
[°_99.40
ke E— 1: 200
T Bt 3R

W
T\ ABRITHUEXI
2 AERRIERSOXTHEAE.
S ABRRBEAREN L TRERERGEY (BREGTHD XAH G HER— — TRARHERE) 2%,
4. AHEERBRERATE,

([@»)
o0
=
____________ v0.50~6.35 o2
........................... Eév
T ==
S
.......... = S
B M vt (S WL
SRR R =
................................... S
g 3.20
0Q_800 B0
1 1
1400
A——~Asg
| 10000 |
E#E20~40
AxEE] 20
FHERHEO Q0
1 w6 .30~6.80 ]
oolJoofoofJo'cfoofooooloofoooo

/30 0~40

100080¢°
L1 E

+1SOM 5500

5500

500 |
/l

8——18100

AL FTIREEARAT

BEALARAIOO0HAKELL TR

kW E (SHTE)

B Bt

v % Al

x I

te 41

1: 200

H M

2017.08 & =

05




